ERY ML

KNDGDWE&T

SOV Fv oRIVETIV
. e GILSONSRAHFERE ISO 8655mAHAIRE
T AESE - -
Systematic Error | Random Error | Systematic Error | Random Error
0.2 UL +0.024 pL £0.012 pL +0.05 pL < 0.04 pL
P2L 0.5¢uC £0.025 pL £0.012 L £0.05 pL £0.04 L
(FA10001P) T uL £ 0.027 pL <0.013 L £0.05 pL < 0.04 L
2l £0.030 pL <0.014 L £0.05 pL £0.04 gL
0.5 L £ 0.040 pL <0.016 pL £0.12 oL <0.08 L
P10L T £0.025 pL <0.012 gL £0.12 uL <0.08 L
(FA10002P) 5 UL £0.075 pL <0.030 L £0.12 uL £0.08 L
10 pL £ 0.100 pL = 0.040 pL +0.12 pL = 0.08 pL
P20L 2 UL +0.10 pL =0.03 pL £+ 0.2 L =0.1 L
(FA10003P) 10 pL £0.10 uLC <0.05 L £0.2 L 0.1
20 pL +0.20 pL = 0.06 pL + 0.2 uL =0.1pL
- 10 pL + 0.35 uL =0.10 uL + 0.8 uL =0.3 L
(FA10004P) 50 WL £ 0.40 uL £0.12pL £0.8 L 0.3 L
100 uLC £ 0.80 L <0.15 pL £0.8 L <0.3 L
D200L 20 pC £ 0.50 uLC £0.20 uC £ 1.6 pL 0.6 uL
(FA10005P) 100 pL +0.80 pL =0.25pL +1.6 4L = 0.6 UL
200 pL + 1.60 pL =0.30 uL +£1.6 L =0.6 uL
100 pC £ 3.0 oL <0.6 uL £8.0 uL < 3.0 L
AL 500 1L T30 =100 T80 =300
(FA10006P) : - : -
1000 pC £8.0 uL <1.5uC £ 8.0 uL <3.0uL
500 pL + 12 L =3.0pL + 40 L =154L
P5000L 2500 pL £ 15 L <5.0uC £ 40 pL <15 4uC
(FA10007) . —
5000 pL £ 30 L 8.0 L £ 40 pL <15 uL
P1OmLL 1000 WL £ 30 UL <6l £ 60 UL < 30 uL
m
(FA10008) 5000 pL + 40 L =10 pL + 60 pL =30 L
10000 pL + 60 L =16 L + 60 pL =30 uL
JIWFFv ORIVETIV
_ — GILSONEAFF&aR= ISO 8655 AR~ ‘
T AESE _ - i "
Systematic Error | Random Error | Systematic Error | Random Error
PEX10L 0.5 uL £ 0.08 L < 0.04 pL £ 0.24 L <0.16 L
(FA10013) 1L + 0.08 pL = 0.05 L + 0.24 L =0.16 pL
P12x10L 5 L +0.20 UL < 0.10 pL +0.24 uL < 0.16 pL
(FA10014)
10 pL + 0.20 pL < 0.10 uL £ 0.24 L < 0.16 UL
P8x20L 2 uL £ 0.10 pL < 0.08 uL £ 0.4 L 0.2
(FA10009) 10 L +0.20 L < 0.10 L 0.4 10 < 0.2 1L
P12x20L
(FA10010) 20 pL + 0.40 pL = 0.15pL + 0.4 L = 0.2 L
P8x200L 20 pL + 0.5l =0.25yL + 3.2 L =1.2uL
(FA10011) 100 pL T1.000 < 0.40 L T3.2 00 =120
P12x200L
(FA10012) 200 pL +2.0puL = 0.50 pL + 3.2 uL =1.2puL
= =
PEX300L 20 pL + 1.0 pL < 0.35 L £ 48 uL < 1.8uL
(FA10015) 30 pL +1.0pL = 0.35 L + 4.8 L =18uL
P12x300L 150 uL £ 1.5 UL < 0.60 pL + 48 UL < 181L
(FAOOE) 300 pL + 3.0 pL = 1.00 pL + 4.8 L =18puL
P8x1200L 100 pL + 6.00 pL =0.9puL + 19.2 uL =724
(FA10039) 120 L + 6.00 pL =0.9uL £ 19.2 uL =724
P12x1200L 600 pL + 8.00 pL =1.2 L + 19.2 pL =724l
(FA10040) 1200 1L £ 10.00 L =150 190 L =700
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pipetman’

GILSONEXFHEinE ISO 8655EKsTama
EF)I AESS - -
‘ = Systematic Error | Random Error | Systematic Error | Random Error
0.2 uL + 0.024 pL =0.012 hL + 0.05 pL =0.04 L
P2 0.5 uL + 0.025 pL =0.012 L + 0.05 pL =0.04 pL
(F144054M) 1.0 uC £ 0.025 pL <0.012 uL £ 0.05 pL < 0.04 L
2.0 pL + 0.030 pL =0.014 pL + 0.05 pL = 0.04 pL
P10 1 pL + 0.025 pL =0.012 pL + 0.12 pL = 0.08 pL
(F144055M) 5puL + 0.075 L = 0.030 pL + 0.12 pL = 0.08 pL
10 pL + 0.100 pL = 0.040 pL + 0.12 pL = 0.08 pL
P20 2 L + 0.10 hL = 0.03 L £+ 0.20 pL =0.10 uL
(F144056M) 10 pL + 0.10 pL = 0.05 L + 0.20 uL =0.10 uL
20 pL + 0.20 pL = 0.06 pL + 0.20 pL =0.10 pL
S 10 pL + 0.35 L = 0.10 uL + 0.80 pL =< 0.30 uL
(F144057M) 50 L + 0.40 pL =0.12 uL + 0.80 pL = 0.30 uL
100 pL + 0.80 pL = 0.15pL + 0.80 pL = 0.30 uL
P200 20 pL + 0.50 L = 0.20 pL +1.60 pL = 0.60 pL
(F144058M) 100 pL + 0.80 uL =0.25 L + 1.60 pL = 0.60 puL
200 pL +1.60 hL = 0.30 pL +1.60 pL = 0.60 pL
S 100 pL + 3.0 L = 0.6 uL + 8.0 L = 3.0 uL
(F144059M) 500 pL + 4.0 uL =1.0pL + 8.0 L = 3.0 uL
1000 pL + 8.0 L =1.5puL + 8.0 L = 3.0uL
P5000 500 pL + 12 L =3.0pL + 40 uL =154l
(F144066) 2500 pL + 15 L =50pL + 40 uL =154l
5000 pL + 30 pL = 8.0 uL + 40 pL =154l
AL 1000 pL + 30 pL S 6L + 60 L =30puL
m
(F144067) 5000 pL + 40 pL =10 L + 60 pL =30pdL
10000 pL + 60 pL s 16 L + 60 pL = 30pL
RFF v OFRIVEFI
GILSONSRAFFERE ISO 8655mAFaiRE
T AESS : -
Systematic Error | Random Error | Systematic Error | Random Error
P8x10 1L + 0.08 uL = 0.05 L + 0.24 L =0.16 pL
(F144068)
P12x10 5L + 0.20 pL = 0.10 L + 0.24 pL =0.16 pL
(F144069) 10 uL + 0.20 pL =0.10 uL + 0.24 uL =0.16 pL
P8x20 2 L + 0.10 pL = 0.08 pL + 0.4 pL = 0.20 pL
(F144070)
P12x20 10 pL + 0.20 pL =0.10 pL + 0.4 L = 0.20 uL
(F144071) 20 pL + 0.40 pL = 0.20 pL + 0.4 pL = 0.20 pL
P8x200 20 uL + 0.50 pL =0.25 L + 3.2l =1.2puL
(F144072)
P12x200 100 pL + 1.00 pL = 0.40 uL + 3.2l =1.24L
(F144073) 200 pL + 2.00 pL = 0.50 pL + 3.2 L =1.2uL
P8x300 30 pL + 1.00 pL =0.35pL + 48 pL = 1.8puL
(F144074)
P12x300 150 pL + 1.50 pL = 0.60 pL + 48 L =1.8puL
(F144075) 300 pL + 3.00 pL = 1.00 pL + 4.8 L =1.8puL
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ExRy hY> M pipetman’
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— s GILSONEXIaR= ISO 8655mAsrame |
T HESE 3 -
Systematic Error Random Error Systematic Error Random Error
0.5 pL £ 0.040 pL < 0.013 pL £0.12 pL <0.08 L
P10OM 1L + 0.025 pL <0.012 pL +0.12 pL = 0.08 pL
(F81022) 5L + 0.060 pL < 0.020 uL £0.12 pL =0.08 L
10 pL + 0.080 pL <0.025 uL £ 0.12 UL < 0.08 uL
2 uC £ 0.075 pL < 0.025 pL £0.2 uL =0.1 0L
332801%23) 00 £ 0.100 L <0.035 1L T07 0 =01
20 pL + 0.150 pL < 0.050 pL £0.2 uL <0.1 pL
5 uL +£0.35 UL <0.10 UL £0.8 L =0.3 0L
P100M 10 pL + 0.30 pL < 0.10 pL +0.8 uL = 0.3 L
(F81013) 50 uL £ 0.38 L <0.12 gL £ 0.8 L <0.3 0L
100 pL + 0.40 pL <0.15 pL + 0.8 pL =03 L
20 pL + 0.40 pL <0.15 pL +1.6 pL = 0.6 pL
féol%';'@ 100 pL £ 0.80 pL < 0.22 UL £1.6 pL <0.6 uL
200 uL £ 1.00 L <0.26 UL £1.6 L < 0.6 UL
20 pL + 0.80 pL <0.16 pL + 2.40 pL =09puL
P300M 30 pL + 0.70 pL < 0.20 pL + 2.40 pL =09l
(F81014) 150 pL £ 0.90 pL <0.23 L £ 2.40 L =09uL
300 uL £ 1.05 L < 0.30 uL £ 2.40 pL =09
100 pL £ 2.5 L < 0.4 L £ 10 L <4.0 L
P1200M 120 pL £ 2.4 1L < 0.4 UL £ 10 L =400l
(F81015) 600 pL + 3.6 L < 0.8 uL + 10 uL 4.0l
1200 pL £ 6.0 L <1.2puL + 10 L =4.0 L
500 pL + 10 pL <2l £ 40 pL <15 L
P5000M
(F81016) 2500 L + 15 L < 4L £ 40 L =15 L
5000 pL + 25 L <7l £ 40 pL <15 L
1mL + 25 L <4uL + 60 pL = 30 pL
P10mLM
(F81017) > mlL + 30 pL <8HL T 60 pL =30 00
10 mL + 50 pL <12 L + 60 pL = 30 pL
— GILSONRAF&E= ISO 8655 AsramE |
EFN MESE : z : -
Systematic Error Random Error Systematic Error Random Error
} * 0. = 0.
PEX10M 0.5 pL + 0.05 pL <0.02 L 0.24 L 0.16 uL
(F81025) 1pL + 0.04 L < 0.02 pL +0.24 L = 0.16 pL
P12x10M 5 ul +0.08 L <0.04 1L £0.24 il <0.16 oL
(F81026) 10 pL +0.10 pL < 0.06 pL + 0.24 pL =0.16 pL
+ 0. = 0.
PSX20M 1L + 0.08 pL < 0.05 pL 0.4 pL 0.2 uL
(F81027) 2L + 0.09 pL < 0.06 pL + 0.4 pL =0.2 L
P12x20M 10 pL +0.15 pL <0.10 uL £ 0.4 L 0.2 L
(F81028)
20 pL +0.25 L <0.12 pL + 0.4 L =0.2 L
P8x100M 10 pL +0.25 L <0.14 L +1.6 L < 0.6 uL
(F81018) T =
P12x100M >0 Wt +0.50 pL < 0.20 pL 1.6 L <0.6 L
(F81019) 100 pL +0.80 L <0.25 L +1.6 L 0.6 L
P8x200M 20 pL + 0.50 pL <0.16 pL +3.2 L =1.2puL
(F81029) = =
P12x200M 100 pL +1.00 pL <0.30 L 3.2 i =12 L
(F81030) 200 pL +2.00 pL < 0.50 pL + 3.2 uL 1.2l
* =1
PS8X300M 10 pL + 1.00 pL <0.18 pL 4.8 L 1.8 uL
(F81031) 30 pL + 1.00 pL <0.18 pL + 4.8 L =18uL
P12x300M 150 pL +1.50 pL <0.375 pL + 48 L =184
(F81032) 300 pL + 2.40 pL <0.45 pL £ 48 L =184
* =7
S 50 pL + 4.0 pL <0.7 L 19.2 L 72 1L
(F81020) 120 pL +4.0 L <0.7 pL +19.2 L =721
P12x1200M 600 L £ 6.0 L <1.5 L + 192 pL =720
(F81021) 1200 pL +£9.6 pL <1.8puL +19.2 pL =724l
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Systematic Error | Random Error | Systematic Error | Random Error

0.2 uL £ 0.024 L <0.012 L £ 0.05 UL <0.04 L
P2 0.5 pL £ 0.025 pL =0.012 pL + 0.05 uL = 0.04 uL
(F144801) T £ 0.025 gL <0.012 gL £ 0.05 uL < 0.04 L
2 jL £ 0.030 L <0.014 pL £ 0.05 UL <0.04 L
1l + 0.025 L = 0.012 pL + 0.12 L = 0.08 pL
?F11%4802) 5L T0.075 0L =0.030 0L T 0120 = 0.08 0
10 L £ 0.100 pL < 0.040 L £ 0.12 L <0.08 L
2 uL + 0.10 pL = 0.03 uL + 0.20 uL =0.10 uL
P20 5puL £ 0.10 pL = 0.04 uL + 0.20 pL =0.10 L
(F123600) 10 pL + 0.10 yL = 0.05 L + 0.20 pL =0.10 L
20 pL + 0.20 pL = 0.06 pL + 0.20 pL = 0.10 pL
10 pL £ 0.35 pL < 0.10 pL £ 0.80 pL < 0.30 uL
P100 20 pL £ 0.35 L <0.10 uL £ 0.80 L <0.30 i
(F123615) 50 L + 0.40 uL =0.12 uL + 0.80 pL = 0.30 pL
100 pL + 0.80 uL = 0.15 L + 0.80 pL < 0.30 pL
20 pL £ 0.50 L £0.20 i £ 1.60 L < 0.60 I
P200 50 pL + 0.50 pL = 0.20 L + 1.60 pL = 0.60 pL
(F123601) 100 pL + 0.80 uL =0.25 L + 1.60 pL = 0.60 L
200 pL £ 1.60 I <0.30 uL £ 1.60 UL < 0.60 IL
100 pL + 3.0 L = 0.6 L + 8.0 L =3.0pL
P1000 200 pL + 3.0 uL =0.6 L + 8.0 uL = 3.0 L
(F123602) 500 pL +4.0pL =1.0pdL + 8.0 L =3.0puL
1000 pL + 8.0 L =1.5puL + 8.0 L =3.0pL
500 L £ 12 L =3 uL + 40 uL =15puL
1000 pL £ 12 L =3 4L £ 40 pL <15
?;132203) 2000 pL T 120 =50 T 40 L =150
2500 pL + 15 L s5uL + 40 uL =15puL
5000 pL + 30 pL =8 pL + 40 pL =154l
1 mL + 30 pL =6puL + 60 pL =30 L
oL 5 mL T 40 L =10 L T 60 L =30 1L

(F161201)
10 mL £ 60 pL <16 L £ 60 pL <30 L
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GILSONEXFHEinE ISO 8655EKsTama
EF)I AERE - -
‘ = Systematic Error | Random Error | Systematic Error | Random Error
0.2 uL + 0.024 pL =0.012 hL + 0.05 pL =0.04 L
P2G 0.5 uL + 0.025 pL =0.012 L + 0.05 pL =0.04 pL
(F144054M) 1.0 uL + 0.025 pL =0.012 L + 0.05 pL = 0.04 pL
2.0 pL + 0.030 pL =0.014 pL + 0.05 pL = 0.04 pL
P10G 1 pL + 0.025 pL =0.012 pL + 0.12 pL = 0.08 pL
(F144055M) 5puL + 0.075 L = 0.030 pL + 0.12 pL = 0.08 pL
10 pL + 0.100 pL = 0.040 pL + 0.12 pL = 0.08 pL
P20G 2 L + 0.10 hL = 0.03 L £+ 0.20 pL =0.10 uL
(F144056M) 10 pL + 0.10 pL = 0.05 L + 0.20 uL =0.10 uL
20 pL + 0.20 pL = 0.06 pL + 0.20 pL = 0.10 L
e 10 pL + 0.35 L = 0.10 uL + 0.80 pL =< 0.30 uL
(F144057M) 50 L + 0.40 pL =0.12 uL + 0.80 pL = 0.30 uL
100 pL + 0.80 pL = 0.15pL + 0.80 pL = 0.30 uL
P200G 20 pL + 0.50 L = 0.20 pL +1.60 pL = 0.60 pL
(F144058M) 100 pL + 0.80 uL =0.25 L + 1.60 pL = 0.60 puL
200 pL +1.60 hL = 0.30 pL +1.60 pL = 0.60 pL
100 pL + 3.0 L = 0.6 uL + 8.0 L = 3.0 uL
PLIE 500 1L T4.000 =100 T8.000 3.0 00
(F144059M) : I . =
1000 pL + 8.0 L =1.5puL + 8.0 L = 3.0uL
500 pL + 12 L =3.0pL + 40 uL =154l
P5000G 2500 pL + 15 L =s50pL + 40 pL =15pL
(F144066) = —
5000 pL + 30 pL = 8.0 uL + 40 pL =154l
1000 pL + 30 pL s 6L + 60 L = 30 pL
LDLS 5000 L T40 0 =700 60 0 =300
(F144067) ~ —
10000 pL + 60 pL s 16 L + 60 pL = 30pL
RFF v OFRIVEFI
GILSONSRAFFERE ISO 8655mAFaiRE
T AERE : -
Systematic Error | Random Error | Systematic Error | Random Error
P8x10G 1L + 0.08 uL = 0.05 L + 0.24 L =0.16 pL
(F144068)
P12x10G 5L + 0.20 pL = 0.10 L + 0.24 pL =0.16 pL
(F144069) 10 uL + 0.20 pL =0.10 uL + 0.24 uL =0.16 pL
P8x20G 2 L + 0.10 pL = 0.08 pL + 0.4 pL = 0.20 pL
(F144070)
P12x20G 10 pL + 0.20 pL = 0.10 L + 0.4 L = 0.20 pL
(F144071) 20 pL + 0.40 pL = 0.20 pL + 0.4 pL = 0.20 pL
P8x200G 20 uL + 0.50 pL =0.25 L + 3.2l =1.2puL
(F144072)
P12x200G 100 pL + 1.00 pL = 0.40 uL + 3.2l =1.24L
(F144073) 200 pL + 2.00 pL = 0.50 pL + 3.2 L =12
P8x300G 30 pL + 1.00 pL = 0.35pL + 48 pL =18pL
(F144074)
P12x300G 150 pL + 1.50 pL = 0.60 pL + 48 L =1.8puL
(F144075) 300 pL + 3.00 pL = 1.00 pL + 4.8 L =18pL
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| NEO™ |

SO Fv ORIVETIV
GILSON R AEFERE I1SO 8655 RAFaIRE
€5
AESE Systematic error | Random error | Systematic error | Random error
0.2 uL + 0.024 pL <0.012 L £ 0.05 L < 0.04 pL
P2N 0.5pL + 0.025 pL = 0.012 L + 0.05 pL = 0.04 pL
(F144561) 1L + 0.025 pL <0.012 L + 0.05 L < 0.04 pL
2 uL + 0.030 pL = 0.014 uL + 0.05 pL = 0.04 pL
1L + 0.025 pL =0.012 L +0.12 L < 0.08 pL
"(;‘1""“4562) 5 L £ 0.075 L <0.030 L 0120 < 0.08 1L
10 pL + 0.100 pL < 0.040 pL +0.12 L < 0.08 L
P20N 2 JL + 0.10 hL = 0.03 uL + 0.20 pL =0.10 uL
+ = + =
(F144563) 10 pL 0.10 pL = 0.05 L 0.20 pL =0.10 pL
20 L + 0.20 pL = 0.06 uL + 0.20 uL = 0.10 pL
— 10 pL + 0.35 L = 0.10 pL + 0.80 pL = 0.30 pL
= + =
(F144564) 50 pL + 0.40 pL <0.12 4L 0.80 pL < 0.30 pL
100 pL + 0.80 pL = 0.15 L + 0.80 pL = 0.30 pL
20 pL + 0.50 pL = 0.20 pL + 1.60 pL = 0.60 pL
P(i?z?rsw) 100 pL £ 0.80 |IL <0.25 L T 1.60 1L <0.60 1L
200 pL + 1.60 pL = 0.30 uL + 1.60 pL = 0.60 pL
100 pL + 3.0 uL = 0.6 4L + 8.0 uL = 3.0 4L
e 500 (L T 4.0 00 =1.0L 8.0 L =300
(F144566) : il : il
1000 pL + 8.0 L <=1.5pL + 8.0 uL <3.0pL
RILVFFv ORIVETIL
GILSON B AXEFERE ISO 8655 mAFAIRE
T
HESSE Systematic error | Random error | Systematic error | Random error
2 uL +0.10 pL <0.08 L + 0.40 pL <0.20 uL
P8Xx20N H H H H H
(F14401) 10 pL + 0.20 pL < 0.10 pL + 0.40 pL < 0.20 uL
P12x20N
(F14402) 20 pL + 0.40 pL < 0.20 pL + 0.40 pL <0.20 pL
20 pL + 0.50 uL =0.25 L + 3.20 pL =1.20 uL
P8x200N
(F14403) 100 pL £ 1.00 pL < 0.40 pL +3.20 L <1.20 L
P12x200N
(F14404) 200 pL +2.00 L < 0.60 pL +3.20 uL <1.20 L
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